
1 2 3 4 5 6 7 8 9 10 11 12

1 nw/k esa xk; 53 0 5 58 0 0 3 0 0 55

2  'kq"d xk; 20 0 3 23 1 0 1 0 0 21

3 vkSlj 62 0 1 63 0 0 4 0 0 59

4 eknk cPps 53 3 0 56 1 0 1 0 0 54

5 uj cPps 2 0 0 2 0 0 0 0 0 2

6 lkaM+ cNM+s 0 0 0 0 0 0 0 0 0 0

190 3 9 202 2 0 9 0 0 191

* TWH - TRANSFER WITHIN THE HERD.

tUe ;ksx (3+4+5)   
Ekkg esa 

forfjr lkaM+ TWH ;kstuk esa 
forfjr

TWH*

 dqy i'kq 

EkR̀;qfiNyk 'ks"k 

mRrjk[k.M i'kq/ku fodkl ifj"kn  ¼;w-,y-Mh-ch-½
ekfld izxfr & gMZ ,dkmUV] ghQj fj;fjax QkeZ] i'kqyksd&_f"kds'k ¼iwoZ esa fons'kh i'kq iztuu iz{ks=] HkjkjhlSa.k&peksyh½ 

ekg % fnlEcj] o"kZ % 2024&25

Ø-la- fooj.k
ekg ds vUr esa 'ks"k     

6-(7+8+9+10+11)

xkS'kkyk 
LFkkukUrfjr 
laHkkfor


